April 28, 2005
President’s Advisory Panel on Federal Tax Reform

Dear Panel:

I. Description of Proposal. My proposal is for a 2% national sales tax along with a semi-reduction in the current Social Security tax rate. The current Internal Revenue Service would be merged into the SEC or other business regulating agency. And that is it, no personal or corporate tax returns. 

· The tax base would be a combination of income and consumption.
· There would be no exemptions, deductions, credits and exclusions 

· The sales tax rate would be 2% 

· Distribution of the tax burden would be to all individual residing, visiting, shopping, working in the United States. There is no provisions for relief for low-income individuals 

· There would be no treatment of charitable giving except as a business deduction
· There would be no treatment of home ownership 

· The method of collection method is done by the company handling the sale 

· The treatment of businesses is explained below 

As stated in your guidelines as directed by the President these options should 
Simplify the tax laws


I am simplifying the tax law by its elimination and replaced with a national sales tax of 2%

A sale is all and any products or services bought in or from a business or person in the United States or the buyer is located in the United States. If China buys a US Treasury Bond they pay sales tax. If a resident of New York buys something from India on EBay they pay sales tax. If you buy a house, you pay sales tax. If you buy a stock, you pay sales tax.

Regarding exemptions, deductions, credits and exclusions there would be none. Everybody pays, hospitals, churches, schools, governments, (including this one), everybody. The reason is if there is any of the above it will be abused and exploited until it doesn’t make sense.

As far as charitable giving goes my thought is this people give if they have extra or they want to help because it makes them feel good. Business give for the tax deduction, now maybe they can give to feel good, get some positive public relations

Home ownership is determined simply by the interest rates, not by the tax deduction. I don’t recall anyone consulting their tax advisor before they bought a house.

Collections would be handled by the entity that the money flows through. They would collect and submit the amounts. Examples would be; Sears, Boeing, EBay, hospitals, insurance companies.

Businesses would no have to have two or more sets of books, one for the general public and one for taxes. They would two audits every year; one by public auditors if a public company and one by a government agency to verify their sales number, because their sales number reported times 2% should equal what they have sent in. 

I mentioned above a semi-reduction in the current Social Security tax rate my opinion on this is I believe you should contribute for your future and that businesses would want to contribute also, understanding that if they put some money in your pocket, down the road you will have more money to buy their products. I am torn in thought on the next part, I would reduce the 7.65% down to 5% and if an individual is self employed they contribute a total of 10% (this number is easier to swallow than 15.3%) but if the individual is employed by a public company (this is my one exception) the company also contributes at least a 5% matching but I am thinking maybe 10% or something in between.

Regarding the simplicity and fairness with a 2% sales tax I think it speaks for itself.

Economic growth would come from the fact that to sell a capital item you always had to consider the capital gains tax effect. Since that has been eliminated and replaced with a 2% sales tax turnover of items should increase

Compliance has been mentioned above and quite frankly I have no idea on the administrative costs only that with a simpler system they should decrease.

Basis for the 2% rate

Using the fiscal year ending September 30, 2003 revenue collected by the federal government was
Individual income tax


$666 billion

Corporate income tax


$108 billion

Social insurance tax


$594 billion

Miscellaneous Taxes


$126 billion

Borrowing to Cover Deficit

$306 billion


Total of 
$1.800 trillion

To replace the individual, corporate and 1/3 of the social (going from 15.3% to 10%) is roughly $972 billion. Divide that by 2% means we are looking for a sales number of $49 trillion. Corporate tax returns reported revenue is $21 trillion, the NYSE reported $10 trillion and the NASDAQ reported $9 trillion. With these three pieces we are at $40 trillion, not included yet are home sales, mergers and acquisitions, non for profit organizations, government sales, etc.

I hope you will consider this simplistic approach, as we all know the current system has become to complex and large.

If you have any questions or concerns, please contact me at your earliest convenience.

Sincerely,

David H. Meddaugh

